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What does the 2 in the number 219,684 
mean?

A) 200000

B) 2000000

C) 20

D) 2000

How many quarts in 40 pints?

A) 10 quarts

B) 24 quarts

C) 20 quarts

D) 15 quarts

What is the place value of the bold 
number in 11,874?

A) Ten|Thousands
B) Hundreds
C) Hundred Thousands
D) Ones

8.5 + 4.82 = 

A) 13.479

B) 13.32

C) 12.06

D) 33.78

Which number represents forty-eight 
hundreds?

A) 48

B) 48000000

C) 480000

D) 4800

Which of the following numerals has a 1 in 
the hundreds place?

A) 4132

B) 2413

C) 4312

D) 1432
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Cross off the number that does NOT belong.

15, 17, 19, 21, 23, 24, 25, 27

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

10
25 , 15

25 , 20
25 , 1, 1 5

25 , 1 7
25 , 1 10

25 , 1 15
25 , 1 20

25 , 

2, 2 5
25 , 2 10

25 , 2 15
25 , 2 20

25 , 3, 3 5
25 , 3 10

25 , 3 15
25

Why does __________ not belong in the pattern?
Add 1

5
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Draw a line to match each problem with the same answer.

75 + 82 + 79 =

38 + 29 + 39 =

35 + 28 + 17 =

69 + 63 + 69 =

69 + 58 + 63 =

68 + 64 + 69 =

63 + 62 + 65 =

28 + 19 + 33 =

79 + 83 + 74 =

33 + 36 + 37 =

6 5 2 8,
- 9 4 2

Subtract 110 from 487.
4 8 4 2,

- 3 5 7 2,

___ ÷ 7 = 3

Double the number 9 three 
times.

Is 32 a composite or a 
prime number?

7 x 5 x 11

16 ÷ ___ = 8

21,  28,  35,  42,  49,  

,   63,  70,  77,  84

Write the number with 2 
hundreds and 3 
ten-thousands.

Circle the correctly spelled words.
advice, advis
feest, feast
lettuce, lettuse

https://www.mathworksheets.com


Name:
Week of June 17
MathWorksheets.com

There are 12 cats, 8 dogs,
and 9 other kinds of 
pets in the Dress Up 
Your Pet Day parade. 
What is the chance that 
one of the dogs will win 
the first place ribbon?

12

current time (pm)

12

time party starts (pm)

How long until the party?

In the number 649,518, what 
digit is in the thousands place?

What place value does the 3 
have in 67,932?

Choose the pair that best represents a synonym 
and antonym for the given word.
cold

A glacial/polar B warm/bleak

C unheated/chilly D frigid/hot

Do you use A.M. or P.M. to 
write 9:00 in the morning?

Do parallel lines intersect? Write the unshaded part as a decimal.
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4 2

4

4 2

4

4

2

22

2

4

The perimeter is .

Round the number to the
place value of the BIG number.

239,721,543

Make a pattern.
Start with 72.
Subtract 7.

, , , , ,

How many days are in 
December?

Expand the number.

132 = + +

Write a word problem for
5 x 3 = 15.

If  = 9, then 6 +  = 
Share 18 equally among 3. Color in 1

2
.

Write the length in millimeters.

cm 1 2 3 4 5 6

List the first five multiples of 9.

Which is larger, 4
5 or 1

6 ? Is 97 closer to 90 or 100?
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The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

N H P R G R M

T T S Q R

C C S S M S S

M K T H W

N T R H T

P T M M N C H

S R R S T

F W M F R G R S R

F M C O N C E P T

S T D F S T C

MESS NATURE HEW CONCEPT
PROGRAM STEADFAST ACCESS
RUST MAKE FROG SQUARE
SURE MUNCH

What temperature is 
twenty-seven degrees above 
freezing in Celsius?

Color 52%. Which number is nine 
hundred thirty-seven?
379 937 397
9,307

What are the first three 
multiples of 5?

Locate where to put the number 435,000
and label the point M.

420,000 440,000

Circle the best estimate for the answer to:
37 + 91

180 240 210 130

Holly is learning to be a 
juggler. She bought 5 
juggling balls for $1.45 
each, 2 scarves for $2.14 
each, and a top hat for 
$8.94. How much money 
did she spend in all?

Which is larger, 4 or 0.5? How many gallons are equal 
to 24 pints?
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861
+ 048

381,1
- 746

905,1
- 077

260,9
+ 366,3

167,9
+ 342,4

251,21
- 684,8

642,28
+ 688

094,59
- 415

614,06
+ 288

430,3
+ 819,8

681,4
- 682,1

476,51
- 309,8

501,03
- 212,1

137,96
- 739,6

933,59
+ 271,4

826
+ 868

332,1
- 033

819
+ 299

750,77
+ 678,12

580,581
- 972,39

570,71
+ 199,11

1
+ 3

+ 7

+ 2

31
+

71
+ 6

+ 9

- 2

- 3

+ 7

43
-

62
+

92
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5 6 1 + 1 6 = 0 3 2 2 7 + 4 + 8
3 = 5

Use the pieces above to help you fill in the runaway math puzzle.

What is half of 28? Fill in the boxes so each line equals 11.

11

11 x

17 -

÷ 1

( 12 - ) +

1 0
x 1 0

7
x 5

+ 4 = + 3

+

0 2 2

1 5 = 7 + 9

8 3 8 3

- = + 0 6

8 3 + 7 +

= 5 = 3

5 + 8 = 1 =

- 8

0 4 = +

1 2

4
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Draw 6 small circles.
Then cross off one-third of the circles.
 

 
 
 
 
 
 
How many circles did you cross off?

Draw a circle to represent a pizza.
Divide the pizza into 8 equal parts to 
represent pizza slices.
If you wanted to eat half of the pizza, how 
many slices would you eat?

1
5

+
1
5

=

Draw a bar model to show this equation. 
Then write the answer.

2
3

-
1
3

=

Draw a bar model to show this equation. 
Then write the answer.

Show 4 different ways to divide each 
square into 4 equal parts.

Draw pictures to show if one-fourth is less 
than or greater than one-fifth.
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2 1 6 6
- 0

1 6
- 1 6

0 6
- 6

0

6 8 1 6
-

-

-

3 6 8 4

5 2 1 8 0 9 6 2 3 7 4 9 0 1 6
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Emily made a huge sugar cookie 15 inches x 
12 inches. She decorated it with red, white, 
and blue sugar to look like an American flag. 
She cut it into 3 inch x 3 inch pieces. How 
many pieces could be cut from the huge 
sugar cookie?

The ugly old witch wanted a new mirror. Her 
old mirror was too small. After all, she 
thought she was so pretty. She wanted a 
mirror that was at least 6.1 feet long and 4 
feet wide! What will the area of the new 
mirror be?

Two prime numbers are each greater than 1 and less than 21.  When these two prime 

numbers are added together, they have a sum of 30.

What are the two prime numbers?

Mary is 1 year older than Peter.  Peter is 7 years younger than Emily.  Kevin is 4 years older 

than Emily.  Emily is 20 years old.

How old is everyone else?

word root retro can mean backward retrospect, retrospection, retrospective
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How large is the angle? First, make a guess and write your estimate in degrees.
Then, actually measure it to see how close your guess was.

Hint: Try guessing between 
76 and 102 degrees.

Guess first: Measure: Guess first: Measure:

Guess first: Measure: Guess first: Measure:

Guess first: Measure: Guess first: Measure:

https://www.mathworksheets.com


Name:
Week of June 17
MathWorksheets.com

This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
32.8

is the sum
6.4 1.6

2.8

22

32.6
is the sum

8.2

2.8

20

34.6
is the sum

22

1.6

2.8

Example:
6.4 + 1.6 + 2.8 + 22 = 32.8

Example:
8.2 + 22 + 1.6 + 2.8 = 34.6

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 26, 20, or 22.
The other three numbers have to all be DIFFERENT and must be from these: 1.6, 8.2, 
2.8, 4.2, 0.6, or 6.4.

31.80.6 2.8

6.4

22

32.8
greater than 4.2

6.4

22

30.6
greater than 4.2

1.6

0.6

either 6.4 or 22

27
even

2.8

22

37.28.2

less than 26

even

33.2
less than 26 either 8.2 or 4.2

either 22 or 0.6

29.6
either 8.2 or 4.2

either 6.4 or 22

even

even

37.6
even

even

8.2

25
even greater than 2.8

either 22 or 0.6

1.6

greater than 2.8

less than 8.2

even

even

26
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 13, 26, or 19.
The other three numbers have to all be DIFFERENT and must be from these: 2.4, 6.6, 
8.8, 3.4, 7.6, 0.8, or 1.8.

36.80.8 26

6.6

3.4

37.8 0.8

7.6

greater than 1.8

3.4

35.8
even

26

either 6.6 or 3.4

2.4

35.8 6.6

2.4

either 0.8 or 1.8

odd even

odd

44.8
even less than 19

greater than 1.8

greater than 0.8

36.8
less than 19 greater than 1.8

odd

30.4
greater than 1.8

either 0.8 or 1.8

greater than 1.8

31.81.8

odd

odd

either 3.4 or 2.4

30.4
odd odd

greater than 0.8

29.8
odd even

odd

either 19 or 6.6

24
even

1.8

greater than 1.8

27
even less than 26

either 3.4 or 2.4

26
less than 26 less than 19

even

31.4
less than 19

either 19 or 6.6

32.6
even greater than 0.8

26.6
either 2.4 or 13 less than 8.8

odd

odd

45.8
less than 8.8

greater than 0.8

less than 8.8

odd

less than 19

less than 8.8 greater than 1.8

either 26 or 3.4
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9 0 7 0 4,
- 8 9 9 0 9,

7 8
+ 4 2

6 9 5
+ 7 4

8
4

+ 1

7 9 2
1 2 0

+ 9 7 5 9,

1 9 6
9 1 0

+ 8 8 3

Find the difference 
between 3403 and 707.

Find the difference 
between 672 and 57. 3 1

+ 1 8

9
7

+ 7

9 1
8 7

4 9 2
+ 7 0

2 9 7
6 1 7
9 3 0

+ 3 7 9
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Write as a decimal.

8
10

 = __________

                   9
10

 = __________

                                      2
10

 = __________

Draw a decimal place value chart.  Have a box for 
tens, ones, tenths, and hundredths. Then draw 
circles inside the boxes to show the number 19.72.

Draw a number line.  Label the numbers 0, 1, and 2.
Label and show where 1.4 should be.

Jessica is obsessed with rounding.  "So what?" she 
asks.
She just took a decimal number and rounded it to 
the nearest tenth.
"Nineteen and four tenths," she said.
If the original number also had a hundredths digit, 
can you name one possibility for what that original 
number might have been before she rounded it?

Wendy and Anne like to draw colorful worms. Why? 

Nobody knows! Wendy drew a yellow worm that 

was 6 tenths of a centimeter long. Anne drew a 

blue worm that was 4
10

 of a centimeter long. Who 

drew the longest worm?

Amy has 980 cents.  Pam has 408 cents, which can 
also be written as $4.08.
How could 980 cents be written starting with the 
dollar sign?

980 cents = $

There are a hundred centimeters in one meter.
 
269 cm = 2.69 m
 
659 cm = _________ m
 
                    559 cm = _________ m
 
_________ cm = 7.49 m
 
                    968 cm = _________ m
 
                                        _________ cm = 4.5 m
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Can you guess the word?
No duplicate letters can be used.

R A N C H
The letter R is in the word
and is in the correct spot.

W I E L D
The letter I is in the word, 
but I is not in that spot.

A B C D E F G H I J K L

A list of letters will be given that
have not been used. Good luck!

S A A T E X N W B N H N X O L A G K O

O A O G S A A O Y I T G I A O G N N G

A N N A T O T O O O T I G E R T A G A

O Y K G T G G N A A G O G O Z A A G T

I A T Q A G L K F M A O T N E J L P L

B T G O G N M L A G A I G E O G O G L

R A L I D N G U O G N X G O J O N G N

K O G A A G L Y L G I W N P G G G H T

Y A S N G I I N N A T A O O T G A D O

T A N N O T E I A G O N Y E G N O V G

Hint: There are no duplicate letters in the answer.

T I G E R
A L O N G

B C D F H J K M P Q S U V W X Y

Z

Let's check if you guessed correctly. Look across or 
down to find the correct answer.

W H E F T T X Q O Q W G O A S D N T T

A R G Z T R A M H T D A K D N N Y G Z

S T A J A D A N M A H H H D G A S W O

R H A T W V T S R R A B R H D R T H A

H X G G H T H H H A D T D W D D A O A

A Q A G A A T T S E A A R H R S I N I

T T R G A G T B R T R W R T R N P D D

W A Y A T R D D W S A H W S G V T D W

F A D G G N H T R I A T F R W Z H H R

C T I H D R H N S T T T H A A D H S A

Hint: There are no duplicate letters in the answer.

G R A N D
T R A S H

B C E F I J K L M O P Q U V W X

Y Z

Let's check if you guessed correctly. Look diagonally 
to find the correct answer. (DIAGONAL!)

T C T U Z M T E U S H O E U T R E I D

H E U Z E C H T S W G N Y S Z E S M U

H Q E Z Q T H V Y T K Q P U E Z U T L

T E O E S Q R U M Q U Q U Q Y T U Q I

G S P P U E U T M Q E T T R U R M U U

Q T D E T T S R O O U C V H Q I Q R O

T U U U U P T T F O R F S O T E E T Q

H U E E E E S I E V P S U U O M P T W

T S U S R U S S O E S Q M Q T O Q Q S

T E U Q T E E E Q O E S T Q U I S U E

Hint: There are no duplicate letters in the answer.

H U M O R
Q U I E T

A B C D F G J K L N P S V W X Y

Z

Let's check if you guessed correctly. Look diagonally 
to find the correct answer. (DIAGONAL!)
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Jenna Anne Jack Adam Rosa

Facts

Jack is seventeen years older than Jenna.

Anne is sixty-five years older than Jenna.

Rosa is three times as old as Jenna.

Jenna is seven years old.

Adam is three years older than Anne.

How old is Jenna?

How old is Anne?

How old is Jack?

How old is Adam?

How old is Rosa?

Write a fraction to represent what is shaded. It is 80 degrees Fahrenheit 
outside.  What would you 
wear if you are going 
outside?

If you add 8 to me, the sum is 
51.  What number am I?

What is the value
of the BIG digit?

641,821,653

7 3
- 7 0
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Hunter Ava Connor Sarah Peter

Facts

Sarah is three times as old as Hunter.

Ava is seven years older than Hunter.

Peter is sixteen years older than Connor.

Hunter is seven years old.

Connor is thirty-eight years older than Hunter.

How old is Hunter?

How old is Ava?

How old is Connor?

How old is Sarah?

How old is Peter?

What is the range of these 
numbers?

26, 22, 21, 21, 26, 28, 21

What fraction of the
box is shaded?

3

What are 10  equal to?

word root ate can mean cause implicate, create

Add one hundred to 766. 6 24

https://www.mathworksheets.com







